Chapter 9 Study Guide (PreCalc) Name: m” Hour: __

Section 9.1: Polar Coordinates
1) How can you find additional polar coordinates that have the same position as the original coordinate?

— Add [Sustract aw/360° - Add /Svbbact 1 /180° cind make
r the opposite Sign

Graph each point/equation on the same polar grid below.
2)R(1,120°) 3) P(3,-210°) 4)C(-4, ) 5)D(-1, - )

6)r=2 7) 0=225° 8) ===

Find the distance between each pair of points. **You WILL NOT have this formula on the test!**

9) (4, -315°) and (1, 60°) 10)(7, ) and (1,2231")

| Z ( |
VIE = 72 (1(4)Cos (60+3157) VT2 O)eos (B v 5)
T 7= Bcos (375) {50 = 14¢os ()

. ,)q_a—u : 60 +4 =

I V(Y lr,Y = 2rr,cos(6,-6),)




9.2: Graphs of Polar E uations

Graph the following on the polar grids provided. Remember, just like on your quiz, you'll be asked to

provide a table with the points you used to graph your equation. Just like with the quiz, you will be given
a chart with the different polar curves.
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11) r = 3cos 0 12) r = -sec 13)r=4 - 3cos 0 14)r=2-2sin6
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9.3: Polar and Rectangular Forms of Equations
15) How do you convert Polar to Rectangular (x,y) coordinates?

X=z4coso
UK rsinB

16) How do you convert Rectangular (x,y) to Polar Coordinates? What do you need to keep in mind
when finding 6 ? (aka: when do you need to add pi/180°?)

CeENE Ot (F) Oy (L) elor
(if x>0) (if x<Oy




Find the recta
ngular coordinates for each point with
hundredth, if Hoaslbia: p given polar coordinates. Found to the nearest

17) (2, 45°) 18) (-2, 270°) 19) (1,:%)
X= ZCOsLlS ° ,
X=-2c0s X270 = -|cos Vo

Yz 24N -2 %in LT0° L Ysino

G5, A %)
Find two pairs of polar coordinates for each point with the given rectangular
Found to the nearest hundredth. Theta should be in radians. ’ e
20) (-1, 5) 21)(3,7) O=tun'(3 22) (-2,:2)
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Write each equation in rectangular form, and identify its graph. **On the test, you may be asked to
graph them as well!**
23)r=5 ¥F CIRCLE 24)r=4sind  CIRCLE
e =5 r*- 4rvin©
: /4 ra
e 1% +y="~4
’ Xy iy =0
Write each equation in polar form, and identify its graph. **On the test, you may be asked to graph
them as well!**
25)y=10 CLINE 26) (x + 5y +y*=25 CIRCULE
(rcosb+5) * yisin'® = 25
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9.5: Complex Numbers and DeMoivre’s Theorem \f |21 coé@
27) How do you find the absolute value of a complex number?

R R A P

28) How do you convert a complex number to polar form? - (b
= a* o O-= W'(‘» or Bt (7\3*”
X0 X <0

29) How do you convert a complex number in polar form back to rectangular form? (a + bi)?
Caven  v[cos® + 15ing)
>Ta Find cos® and <inb
> Distlovte ¢



30) What are the product and quotient formula for Complex Numbers in Polar Form? **You will need to
have these memorized for the test!** j
z

onc\uc+‘ r,r; |:c05 D, +6,)+ tSm(@,*e
M' "f-‘ COS 92‘9,)*]5‘“’\(92- 9,5)

31) What is DeMoivre's Theorem? **You will need to have these memorized for the test as well!**

[T(COSB-;IS.IH@)]" = .rn(cogme-f—ismy\é\
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32) Express -2 + 4i in polar form. N q ‘-{7 co3 “(0 67 Lf j
r—J DA (o0 447 O3 W/")*'go

= {411, 6= 116.57°

33) Express 3(cosiE it 1sm4"‘) in rectangular form.
T {-3 Bl
-+ v et —
3( /2 =y |§ = /;L i 1\

34) Find the product or quotient, and express it in rectangular form.

a) 5(cos135° +isin135°) «2(cos45° + isin45°) b) 1/2(cos60° + |$|n60 ) +3(cos30° + isin30°)
|0[cos 180 +i sinlQ)] 5 [eus B+ isin® |
—10 + O '/(, [0.866 + 0.51]
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35) Find each power, and express it in rectangular form.

a) (8- 5i)* g b)'[Z(COS§+isin§ W
r=yq9+95 ‘}aﬁ‘(—) 23( 3 A 3_15)
= \[__ & 5 83 Q- -59.0%° COS T ISINGA
[5 83((205 5" 03+tsm5‘L0§] ‘5 5 ‘—5

5.83 (C,OS[H~ '5‘1,012) + isinE{-S‘LO?ED Mi +LNE|
155 Q(COS 230,12 +sin ‘23(“7&\

1155.2 (-0.55 * 0.837)
[~635.36 +958.81] |




